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Constructor

» Constructor:is a special type of method that is used to
initialize the object.

» Itis like 2 method in that it can have an access modifier
(like public or private), a name, parameters, and executable
code.

» Constructors have the following special features:

I.  Constructors have the same name as the class in which
they are defined, and typically should be pubic.

2. Constructors cannot have a return type: not even void.



Constructor

» You must call a constructor to create each object.

Bike bl = new

fartPage X @Haiujava X|@ Bike.java K|

ource  History ‘ @ al

1| package bikerecords;

2

3 public class Main {

4

5 public static void main(String[] args) {
g T Bike bl = new Bike ();

T }

g

§ }

«— constructor

Bike () ;
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package bikerecords;

puklic class Bike {
int id;
String coloz:

void show () {

System.out.println ("ID:"+id +" "+ "Color:™tcolor);
}

}



Constructor

» There are two types of constructors:

Types of Java Constructor

| |

Default Constructor Parameterized Constructor




1. Default Constructor

» If a class does not define constructors, the java compiler
automatically provides a default constructor with no
parameters (local variables).

» A constructor with no parameter is called the default
constructor.

» The default constructor provides the default values for an
object.



1. Default Constructor

class Bike{ - class Bike{
} —>impil_e:/—> Bike(){}
i
Bike.java Bike.class



Example of default constructor

Start Page *

i Personrecord.java X

3
<
5 int 1id;
&
.
8

1 package personrecord;

public class Person {

String name;

& Person.java *

public Person () {
}

Default
constructor
with no
parameters



Example of default constructor

() -
() -

«— constructor

Start Page < |[5: Personrecord.java *|E Person.java |
1 rackage personrecord;

=2

3 public class Personrecord {

e

s| [=] public static wvoid main(Stringl[] args) {
= Person Eﬂ:_: new | Person

) Person E,E_: new | Person

8

S

10 — 3}

11

1= }

: Qutput - personrecord (run)

BT T

10

Tumn:
BUILD SUCCESSFUL (total time: 0 seconds)



Example of default constructor that

displays the default values

» Default constructors can also be used to show the default
values to the object like 0, null, etc depending on the type

Sstart Page >=|[=2 Personrecord._java =

Wo-dmmbwhH

=] Person. java =

packagse personrecord;
rprublic class Persormn i / DefC(UH'
int 4didr; pUblIC Person (){ CC.)HSTI"UCTOF'
String names; with no
i parameters
o dd display L] }
i
IT Svstem.cut.println (Ad4+" "H4rnamse) ;
¥
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Example of default constructor that
displays the default values

start Page > |[E Personrecord.-java > |[= Person.java <

maclkagsese persSolnDaecoaoIn s

ksl 3 class Pe I S Ol Ime o Il £

A R N R
i

puulblic static wwodd mairni(Striricg ] aarcggs) £
Persar o l— rmnaetw BPaer SaaTry £y 5
Persaorn ppll— rneaew Paerm Saaory LI
=l o dil spodasns () F
1O 2 displas () 5
i e 1
1= — ¥
1=
1 =2 ¥

BITTII.I ST TTE=ESSFEFILITL. ot = 1 e e T = L] se Tl = )

2 |

» In the above class, you are not creating any constructor so
compiler provides you a default constructor. Here 0 and

null values are provided by default constructor.
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2. Java parameterized constructor

» A constructor that have parameters is known as
parameterized constructor.

» Why to use parameterized constructor?

Parameterized constructor is used to provide different
values to distinct objects.

» In case you create a constructor, then java will not create a
default constructor.

13



Example 1 of parameterized constructor

» In this example, we have created a parametrized
constructor of Person class that have two parameters.

» We can have any number of parameters in the constructor.

14



Example 1 of parameterized constructor

Start Page > |[5 Personrecord.java >|[E Person.java |

1 rackage personrecord;

=

= rublic class Person {

4

S int idr

= String name;

—

8 «— Parameters
S public Personl|int i, String n)| {

10 id = 4ir

11 name — IL7

1=

132 ¥

14

15 wvold displav () {

1e System.cut.println{(”"ID: " 4+id);

17 System. cut.println{("Nam=s: " H4name) ;7
1a System.cut.println () ;

15 ¥

20 }

—
o1



Example 1 of parameterized constructor

Start Page > |[E Personrecord.java *=|[E Person.java |

a1 mpackagse personrrecaoInddF

=

= pubhlic class Personraooo-d |

<1

= =1 rpulbhlic static wolid main(Stringll] args) I
= Persorn pl=— new FPFersor (1l =23, =N g =T e -
i Persorn pl= new PermsSor (=221 . TEFatm=") 5
=

= pl._ displas () 5

A O P2 .displas () 5

i [ I

1= — ¥

1=

14 ¥

s Dutput - personrecord (run)

[:[:} riar -
IDx: 123
E; MNames= : IAhmed
= IDxh: =Z31
%Ei MHame=: Fatma

BUOILD STTMCOCESSFUOL (cotcal time: O secornds)




Example 2 of parameterized constructor

» In this example, we have created the parametrized constructor
of Person class that have two parameters.

» We have also created a constructor with no parameters to
create object p3 which will have no initial values. It is like we
have used a default constructor.VWe have created this
constructor because the default constructor is no longer used
by java.
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Example 2 of parameterized constructor

Start Page = | = Personrecord. jawva = | = Person.java =

a packagsese persSsornInmeooIndds
=
= Dkl a3 o coclass Persore f
=1
= drnt ddds
= String rame s
-
=
= =1 pulkl ioc Persormn {irnit i, Striricy Il Ky
i i = 4 r
11 IS TN = ITi s
1=
1= — ¥
A ==
1= = ppulklicoc Persomn ] i
A =
A F — ¥
A=
= [ =rodid dAisplay () £
=0 System. oo printlyn (T ™ 4+ 3iAd) r
=1 System. cut.println {"INams = " +rnam=J) 5
== System. ot oprintlr () 5
- L ¥
- | ¥
=25
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Example 2 of parameterized constructor

Start Page > |[E Personrecord.java >=|[= Person_java ><|
a maclkagsese IDeIr STl Lo T Cd F
=
= e T e T ] el as=s P I sS O T T s T £
-3
= =1 =aks 1 4 o static —wodid madir(Strxmiricg ] o= ry
= Feir =s«»rT1 JFo - T =T e 1 =« T (1L == - " E Tl )} 5
- Per S«r1 Eo = = T = Perr =cosT - . TEattm="" ) 5
= FPe1rr sSaor o= = b R P =<1 L
=
p ] 3.3 = =314 5
pu Il 18 I3 - riarmne = TNl Tt o
q =
1= =1 - Ad spd = () 5
- S P did sl asns () o5
i = =2 o dbd sl a s LI
aq =
b L ¥
A=
q = ¥
S dDwutpauat - preersamerecaor ol | resm )y
[:j}' I LATa O
[::[:} = - 1A ==
T = aree= = el e T ="
%% I == ==1
T = aree= = Faoaamas
T = = =11
i =aree = Tl ar— =T
IE-UIL::- ST T E S SEFELTIL i = i e o i = e rael = J

1
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ixample 2 of parameterized constructor

wrkE Page = | [E2 Personrecord_java >|[= Person_jawva |

ackacogses e SOOI e T cd s

e T I T e T Eam B B — g — 3 FPree X S v T e oy Tl £

i [=—1 ksl G stait 4o e d ] meae A rr (St ridrucg L] i e = ] £
P =s«<x1r F=> 1 == T o= P 1 =< ITL (1L == 5 TrETyTnie AT ) S
PeIrsaorr o2 == T = T P 1 =<oT1L (=2 =4 . [ T e o u T—T N
e I =S coaTL =3 - i "0 e I =S coaTL L

5

=1 o dil sl asws )
P2 oAl s A s L)
=3 oAl s = i

oy,
kl

— *

: Dutput - personrecord (run)

rumn:
ID: 123
Hame : Zhmed

ID: Z31

Hame: Fatma

el R 2

ID:- O
Hame: null

BUILD SUCCESSFUL {total time: 0 seconds)
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Parameterized constructor

Parameters are the local variables of a method.
Parameters are declared in a comma-separated parameter list.

Each parameter must specify a type followed by a variable
name.

Multiple parameters are separated by commas.

Each variable must be consistent with the type of the
corresponding parameter.

If the variable type does not match the parameter type, java
will show an error message.

21



Constructor Overloading in Java

» Constructor overloading is a technique in Java in which a class
can have any number of constructors that differ in parameter
lists.

» The compiler differentiates these constructors by taking into
account the number of parameters in the list and their type.

22



Example

Start Page > |[E Main.java >|[= Person_java >

a1 packags personrecords s
=
= pullic class Perrsormn F)
<3
L= String name;
= String Se=3i7
- int Sugess
a8
=] =1 ksl ioc Persore () Ky
1O
11 — ¥
1=
1= =1 pulbhlic Persomn(Str@irgg Tie. String S £
IR 2 pa =g =1 = b
= e - =5
pu I — ¥
a7
i1re =1 pulbhlic Persomn(Str@ircg T, String S, it &)
a s I TN = T1s
=0 =R = = =S5
=1 =y = a5
== — *
=3
= =1 rodd pr-intInfo () Fy
=5 System. out.println {""IMName : o +rniame) 7
= a Syvwstem. ot .println{"Sezx s A+ s==x) 5
= Syvwstem. out.println (" Sezx o +ag=} F
= Sywstem. ot .. .println () 7
=9 — *
=20 ¥

23



ixample

Start Page >|[& Main.java *|[£ Person.java >

1
-

Wwom o=l |k W

rackage personrecords;

prublic class Main {

[ puklic static void main(Stringl[]

- }

Person pl=

Person pIi=

o —

pl.printInfo()};
EPZ.printInfo () ;

new FPerson

"Fatma™,

args) |
new Person{"ahmed"”, "Male") ;s

Femals"

r

34 7

rurm
HName : Ahmed

Sex: Male
Sex: O
HName: Fatma
Sex: Female
Sex: 34

BUILD SUCCESSFUL
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this keyword



this keyword
» There can be a lot of usage of java this keyword.

» In this lecture, we will look at only one usage of this
keyword (The use of the this keyword to refer current
class instance variable).

» The this keyword can be used to refer current class
instance variable. If there is ambiguity between the instance
variables and parameters, this keyword resolves the
problem of ambiguity.
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Understanding the problem without
this keyword

Let's understand the problem if we don't use this keyword by the
example given below:

tart Page >|[E& Main.java >|[E Person.java >

rackage personrecords;
rublic class Persorn {

String rname;

String Se3x;
=1 pubhlic Persor () )
— ¥

[=] rpublic Person(String namese, String s=e3x) )

Inaime — InaIne 7

S — ==

wodd printInfo () £
Syvstem. cout . println{ " MNams= : T +rname)
Syvstem. cout._println{"S=3x: " +sex)

Svstem.cut.println ()

553[5;5'&9bhh\bp@iabbmmqmmmwnw
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Understanding the problem without
this keyword

Start Page * |5 Main.java *|[£ Person.java *

1 prackage personrecords;
=
32 public class Main {
&4
5 [ pukblic static void main(Stringl[] args) {
& Person pl= new Person("Zhmed"”, "Mal=e") ;
o Person pi= new Person("Fatma™, "Femalse") f
8
9 Ppl.printInfo()
10 P2 .printInfo()
11 — ¥
1=
132 ¥
1A
S COutput - PersonPRecords (ruam)
[::[} TFLaTa -
T == = il
[:[:} S ez - Fraral 1
(=0
% % I = aruee= = raialdl 1
Seoz - ratal 1
BITIT I.I> ST o T ESSFELOILL Lol =S T N =0 I = ime = [ ] == el S T e H=— |




this keyword

» In the above example, parameters (formal arguments) and
instance variables are same. So, we are using this keyword to
distinguish local variable and instance variable.

29



this keyword

tart Page |5 Main.java >|[& Person.java x

1

i

S T e T O« L A O O

—0 —0 —

W oY s W

S

i

30

prackage personrecords;

pukblic class Person {

String nams;

String se=x;

pukblic Person() {

public Person(String name, String sex)
this.nams = name;

this.sex = Se;

vold printInfol) {

Ll

Syvstem.cut.println {"Nams: +nam=) -

e

Svstem.cut.println{("S=x: +=s=:) 5

System.cut.printlni()

{



this keyword

Start Page * |5 Main.java *|[£ Person.java *

1 rackage personrecords;

=

32 public class Main {

<

5 [ pukblic static void main(Stringl[] args) {

& Person pl= new Person("Zhmed"”, "Mal=e") ;
o Person pi= new Person("Fatma™, "Femalse") f
a8

9 Ppl.printInfo()
10 P2 .printInfo()
11 — ¥
12
132 ¥
1.4

S CDwutput - PersonPRecords (ruam)

Zara o

=g
[::[} I =y = Pl kT
L]
B

Seoo = M= =

I == = Fatms=

Seor o Femesl e

BITTIT T.FS ST T ESSELTIL Lol = Sy == I i A o [ ] sEe i rucil= 1
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this keyword

» It is better approach to use meaningful names for variables. So
we use same name for instance variables and parameters in real

time, and always use this keyword.

» If local variables(formal arguments) and instance variables are
different, there is no need to use this keyword like in the
following program

32



this keyword

Start Page >[5 Main.java *|[= Person.java >

L T Y O R A

Fotnd

=32
e 8

33

rackage personrecordss

pubhlic class Persor |

String name;

String S=3x7

pulkslioc Persorm () i

public Person(Strirng ri, String =) )
nams =— IL;

L= - =5

woidld primtInto () i

r

Syvstem.cout.println (" "MNams= : +rnam=}) 5

LRl

Syvstem.cout.println (" S=3x: +s=2) 5

Svstem.ocut.printlin () 7



this keyword

Start Page * |5 Main.java *|[£ Person.java *

1 rackage personrecords;

=

32 public class Main {

<

5 [ pukblic static void main(Stringl[] args) {

& Person pl= new Person("Zhmed"”, "Mal=e") ;
o Person pi= new Person("Fatma™, "Femalse") f
a8

9 Ppl.printInfo()
10 P2 .printInfo()
11 — ¥
12
132 ¥
1.4

S iDutput - PersonPRecords (ram)

[::[:P AT
[::[:} I == = e Faarusai
Seoo = =1 =
%% T =ame = Fatms
Seas s Fem=sl e
BETT T I.rs ST T TCESSELILL et al T A e o i = e rrl = 0
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Assignment Two is Uploaded to the
Portal of “Learning”



